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  Natural language support but running in an English locale
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Type 'contributors()' for more information and
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Type 'demo()' for some demos, 'help()' for on-line help, or

'help.start()' for an HTML browser interface to help.

Type 'q()' to quit R.

> require(metaSEM)

Loading required package: metaSEM

Loading required package: OpenMx

Loading required package: digest

Loading required package: MASS

Loading required package: Matrix

Loading required package: Rcpp

Loading required package: parallel

OpenMx is not compiled to take advantage of computers with multiple cores.

Attaching package: ‘OpenMx’

The following objects are masked from ‘package:Matrix’:

    %&%, expm

mxOption(NULL, "Gradient algorithm") is set at "central".

mxOption(NULL, "Optimality tolerance") is set at "6.3e-14".

mxOption(NULL, "Gradient iterations") is set at "2".

"SLSQP" is set as the default optimizer in OpenMx.

> require(semPlot)

Loading required package: semPlot

> require(lavaan)

Loading required package: lavaan

This is lavaan 0.5-20

lavaan is BETA software! Please report any bugs.

Attaching package: ‘lavaan’

The following object is masked from ‘package:OpenMx’:

    vech

> s= read.csv("H.csv", head= TRUE)

> s1=as.data.frame(na.omit(s))

> H=cov(s1, use="complete.obs", method="pearson")

> s= read.csv("R.csv", head= TRUE)

> s2=as.data.frame(na.omit(s))

> R=cov(s2, use="complete.obs", method="pearson")

> s= read.csv("U.csv", head= TRUE)

> s3=as.data.frame(na.omit(s))

> U=cov(s3, use="complete.obs", method="pearson")

> s= read.csv("T.csv", head= TRUE)

> s4=as.data.frame(na.omit(s))

> T=cov(s4, use="complete.obs", method="pearson")

> numbers=c(115, 305, 136, 296)

> corrlist <- list(H, R, U, T)

> country= c("H", "R", "U", "T")

> v= data.frame(country, numbers)

> vars <- c("A", "M", "I", "E", "C", "P", "F", "O", "L")

> my.corrlist <- lapply(corrlist, function(x) {x[vars, vars]})

> indirect1 = indirectEffect(my.corrlist, numbers, standardized= TRUE, direct.effect= TRUE, run= TRUE)

Error in (function (x, n, standardized = TRUE, direct.effect = TRUE, run = TRUE)  : 

  length of 'dimnames' [1] not equal to array extent

> indirect1

Error: object 'indirect1' not found

>
